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If the length of a rectangle is increased by 20% and its breadth is reduced by 10%
then find the percentage change in its area?

e, Teh ST shl TSATS | 20% hl Theg BT & 3T ST TTSTS H 10% hT HHT <hT SATelt
2, T 39k AT § Tfa9Ta TiaEd=T JTd shifTa?

w m> 1.32
2.12
3.8

4.13
5.NOT






If the circumference of a circle is increased by 20% then find the % change in its

area?

TS ek I skl TRIET T 20% <Rt Aleg BT & AT 3Tk GTHT H % TR AT hiterd?

2.44
3.40
4.27
5.NOT



If the radius of a sphere is increased by 30% then find the % change in its volume?
e Tk et Y Forear # 30% <t Ffg et 3 a7 IHeR ATIAT | % TR qT hiforar?

/= > 1.219.7
- IJ:D ',

3.112.8
4.122.9
5.NOT



If the surface area of a sphere is increased by 125% then find the % change in its

volume?

IS Teh Tt o THT FTH H 125% ohl Jieg BT & AT IHR ATITT H % TRTAT A1
EAIEE

4 > 1.337.5
- |‘l=D ',
Yo' [y 2.237.5

3.178.8
4.132.8
5.NOT



If the length of a rectangle is increased by 20% then what % of its breadth will be

reduce for no change in area?

Tt Teh T S SETE W 20% hT Jfg hY ATAT 7, A7 SIAHeT H I3 TRIAT 7 3 W
k! ATSTS T fera T UfaoTd »H 21 STu?

w m> 1.20
2.25
3.16 2/3

4.30
5.NOT



If the length of a rectangle is increased by 40% then what % of its breadth will be
reduce for 10% decrement in its area?

afe Teh AT Y SaTE W 40% Y Ifeg Y AT 7, O 30H ATEA | 10% 6 HHt h
foTu Taeht s w1 foRaaTY% | B ST

( m> 1.28 4/7

2.355/7
3.571/7
4.213/7
5.NOT



If the price of a article is increased by 20 % then what % of consumption will be
reduce for 10% increment in expenditure?

TS Uk o h Hed W 20% hT Jeg hT AT &, AT 9T | 10% hT Jeg o (17 Taa o
Rt % = B SITu?

= > 1.10

3.81/3
4.12 %
5.NOT



The price of petrol was raised by 15%. By how much percentage should a motorist
reduce the consumption of petrol so that the expenditure on it does not increase?
Ut ShY ShIHA H 15% oht Ffeg, <hl T3 oft| Teh WX TATeTeh Tl YT hi @O ohl {ehe

TTAITd deh ShH ShiAT TTEU dAlich 36 W &Y 7 a¢?

2.153/13%
3.131/23%
4.6 7/8%
5.NOT

(/j_)) 1.92/11%



Price of petrol increased from 60rs/liter to 75rs/liter. How much should the
consumption of petrol be reduced (in %) so as to increase expenditure by only 10%?

U2IeT shl hITd 60 TUX Tl e & Tgert 75 U U e B TS B SheleT 10% ek o9
QT oh ToAU Ueier hl @Ud Rt Teha T &l (% W) TohaT AT ATRE?

( (£20) > =12

3.15
4.18
5.NOT



The price of entry ticket of kingdom of dreams in Gurgaon is of 160rs. If the price of =Y
ticket is decreased, the sale of ticket increased by 25% and the collections recorded

at decrease of 12.5%. find the deduction in the ticket price(in Rs.)

IEIG H FUAT & ATHAST & g fehe i A 160 0 &1 i fede & Had & @
ST &, o feehe & fadht & 25% & gig g5 IR FUE & 12.5% & el g1 i 75| fepe
Hed A weldl ara HIfad (Iud H)

4 \> 1. 63
w (=) gl
(\Q/ 2. 42

3. 48
4. 68
5.NOT



Base of a triangle is increased by 33 1/3% and its height is reduced by 16 2/3%. Find
the percentage change in area of triangle?

Ueh AT & MMUR H 33 1/3% P g eIl & 3R D FAS 16 2/3% DA @ AT &
ST & & ahel H fdrd TR |l HIiow?

1.20
2.16 2/3
3.14 2/7
4.111/9
5.NOT




A worker earns 2800rs per week. If his per hour wages is increased by 20% and his
working hour is decreased by 25%. Then what will be new wages ?

T HidHD Uld FATE 2800 TUY AT &l Tfe 3HD Uld 8¢ & ddd A 20% & gig el &
3 3b FTH & G¢ H 25% Y AT AT &1 Y T 1 IdT T B2

2.2500
3.2700
4.2000
5.NOT

( w m> 1.2520



